ALGEBRA I Quiz 3.5

1.
Using mental math, find (a)
672






(2 points)





  (b)
58∙62?

Simplify


2.
(4w2 – 7w – 6) – (8w2 + 2w – 3) 


3.
8p3(–3p2 + 6p – 2)


4.
(4k + 5)(3k2 – 4k – 4)


5.
(2n + 2)(2n – 2)


6.
(17m2 – 5)(17m2 + 5)


7.
(2x – 6)2

8.
(4x – 6y3)2
(1 point each)

Completely factor the expressions in questions 12-19.
9.
[image: image1.png]42 + 184 + 81




  


          




(1 point)

10.
169d2 – 260d + 100


          




(1 point)


11.
16x2 + 80x + 100







(2 points)



12.
k2 – 22kf + 121f2







(2 points)


13.
2x2 – 20xy + 50y2 







(2 points)


14.
s2 – 81









(1 point)


15.
4x2 – 81y2








(2 points)


16.
[image: image2.png]50x°% - 8












(2 points)


17.
24y3 + 56y2 – 6y – 14







(3 points)
18.
6g3 + 8g2 – 15g – 20







(3 points)
19.
You are planning a rectangular garden in your backyard.  Its length is three times its width.  You want a stone walkway that is 4 feet wide to go around the garden.  You have enough stone to cover 396 ft2 and you want to use them all in the walkway.  Using a diagram and algebraic reasoning, what would the actual dimensions of the walkway be?


(3 points)
20.
You are making a giant donut. You roll out a circular slab of dough, then you use a circular plate which has a radius 9-in. smaller than the dough, to cut out the donut hole.  Use a diagram to illustrate the situation.  Write an expression for the area of the dough used for the donut in factored form?








(4 points)
